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QUESTION 1

Consider the following program code: 

@stack = (10, 10..25); 

push(@stack, yellow); 

shift(@stack); 

push(@stack, white); 

print shift(@stack); 

What is the result of executing this program code? 

A. The code will fail at line 3 because shift requires two arguments. 

B. The code will output the following: 11 

C. The code will output the following: 10 

D. The code will output the following: white 

Correct Answer: C 

 

QUESTION 2

Consider the following program code: 

$x = 5; 

$y = 10; 

while (++$x 

{ 

print ($x $y ); 

} 

print ($x $y ); 

What is the result of executing this program code? 

A. The code will output the following: 6 11 7 12 8 13 9 14 10 15 

B. The code will output the following: 6 11 7 12 8 13 9 14 10 14 

C. The code will output the following: 5 10 6 11 7 12 8 13 9 13 

D. The code will output the following: 5 10 6 11 7 12 8 13 9 14 
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Correct Answer: B 

 

QUESTION 3

Consider the following program code: 

$Animal = Dogs bark; 

package Cat; 

$Animal = Cats purr; 

{ 

package Fish; 

$Animal = Fish swim; 

} p 

ackage main; 

print $Animal; 

What is the result of executing this program code? 

A. The code will fail at line 4. 

B. The code will output the following: Dogs bark 

C. The code will output the following: Cats purr 

D. The code will output the following: Fish swim 

Correct Answer: B 

 

QUESTION 4

Consider the program code in the attached exhibit. 
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What is the result of executing this program code? 

A. The code will output the following: 50 

B. The code will output the following: 0 

C. The code will output the following: 5 

D. The code will output the following: multiply(5, 10) 

Correct Answer: B 

 

QUESTION 5

Which of the following choices demonstrates the correct syntax to pass the argument $arg2 to the subroutine getpass? 

A. getpass($arg2); 

B. call andgetpass($arg2); 

C. sub andgetpass($arg2); 

D. call getpass($arg2); 

Correct Answer: A 
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